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1. (@) Find 7 if 25C, = 2°C,, ,, 1
T 25C, = °Cy,yq W, (TELT 7-3 T

ety 711 |
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([ 2)

(b) Find x (x-3 W& fiofy ) if (3f)

X -5
xX-3 x

:O'

(c)‘ Is the set A={x:x+5=5} null?

A={x:x+5= o .
e TR R e

1

(d) Every scalar matrix is

matrix. a diagonal !

- { Write True or False y o1
MW@W@ﬁﬁﬂs‘f@ﬁWfﬁl |
(3711 G wprey farar )’

| (e) DEﬁne a s]rmrn .
example also. etric matrix. - Give
' 1
CHRAPRR <1 TR (e siemy By |

() If AM of x
1> X9, ***, X, i8 X, th ;
3"‘:1."‘ 2, 3x, +2, --’-,'?3)(:rl +2 isen-—.AM of

{ Fill in the blank } 1

12C—8000/9

( Continued )

(9)

(h)

)

12C—8000/9

(3)

Xy, Xoy 0y Xp~4 TS WG X 2,
3x; +2, 3x, +2, - 3x, +2-3 e

g T — | ( A 31 [ )
SDofl, 2, 3,4 5is

i 2

(i) 2

(i) 4

- ( Choose the correct answer )

1, 2, 3, 4, 5-3 T o7 TT
i 2
i) 2
(iii) 4 (o Tech! AR Tferet )

P(A) + P(A) = —.

( Fill in the blank )
(R FFN)

If two dice are thrown at random,

they can fall together in — number

of ways. ( Fill in the blank )

@@@ﬁma@wqﬁwﬁw
Bréte —— et AR *MI |
( IR o o7 )

( Turn Over )
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) If the two variables x‘and'

: a
independent, then value of r w%ll I:: | o AR @T ] et b
PO Fill i ' ‘
nyEBTWLﬁ: toe plank ) @ A={x:3x~8=0}
2@ -3 Y 3 '
— . ﬁrﬁfmqq B ={x:x 9bl CUfeid R < 5}
_ ( =0 312 o= 1 ) HE
i et} an“!inatc‘i”().t dlﬁ'ferences between a 6. Arithmetic mean of samples of sizes 50
pre eterminant, ) and 75 are 60 and x respectively. If the
ﬁmfﬁlaﬁsa; SF 96 Rafe e T el ' arithmetic mean of 125 observations of
‘ both the samples taken together be 54,
find x. ‘ , 2
3. Find th = ! 50 Wi 75 CoNGRIME 1o1 afemda e T1s T
- t‘*"*’ﬂueofx,when,«a:[4 xJand | 60 W x. M AL Aol At 12560
A=A e Gfibq R G 54 T, (SCRE x-I AW
) 4 3 | TFA=A"F, @R x-7
el 1 - 7. If (@) n =10, Tx =120, Tx? =1690'
find coefficient of variation. 2

" 4. Find n if "p, = 306,
n .
lﬂﬁ Pz =306 ; (TR ng W fidfg w7 |

, ] (oE e v @ 1

’ 8. Find the simple interest on Rs 6,000 from

' ' 4th March, 1992 to 28th July, 1992 at

2 the rate of 5% p.a. 3
4 Wi, 1992-F *[1 28 TARZ 1992 AT =W

5% ©S 6,600 HIH @[S e o fefa A |

S. Are the following two sets disjoint?
A={x:3x—8=_0}

B={x:xis a prime mﬁmber < 5}

12C—8000/9
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9. Write down th
e first fo
€xpansion given below - e teemaof the

Wﬁgﬁ?ﬁ@wﬁﬁwﬁm:
-

A={p, g1} =
D {p’ q S}, E = {;}:2}

State whether th
e
are true or false fOIIOng statements

10. Let (1 3'=)
C = {r, S},

11. Solve PWTW ) :
‘ 3
x+a b &

c X+ b a =0
a b

12C—8000/9
( Continued )

(7)

12. AM  of ‘the following distriﬁution is
17 years. Find the value of x : 3
o fieew ©IeRE] R Wy 17 I=I T,
. x3 I Fefa w4
g8 20 26 29

Age {years)
777 ()

No. of Persons

AT 1

13. Prove that (&¥9 34 @)
x Y

x+y+2z
z y+z+2x y =2x+y+2°
z x z+ x+2y

: 4
or/#& .
Given (T SIT®) ,

A 48] g5 -6 b _[-22 a
“l2 a7 | 29| | 14 -15
find a and b if 2A+ 5B =C.

(SRR aWF b Ffg I A 24+ 5B = C.
‘(TumO'ver)'

12C—8000/9



14. Find the middle term of the expansion :

(9)

4 b
s o ' 17. Write down the formula for finding the
== ol ot . amount (4) on a principal (P) at r% p.a.
: 6 compound interest, interest being
(xz - FM-) : compounded monthly for a period of n

d ] years. -
Or/ w51 ‘ The value of a machine at the end of a

Show that ((rye3t @)
n.Cr + ncr_l — n+lcr

Ay

15. Prove by mathematical induction that

16.

oIS g TR o @
14+3+5+ . +@2n-1)=n2

Mohit borrows Rs 12,500 at 5% p.a. CI
-f'md agrees to repay the loan with interest
in_ 5 equal annual instalments, the first
payment being made at the end of first
year. Find the value of each yearly
instalment to be paid by him.

year becomes 90%. of its value at the
beginning of that year. The machine was
bought at Rs 4,800 and after using it for
some years it was sold at Rs 1,800. For
how many years the machine was in use?

2+5=7

T4 (P)-T @RS TR 1% TS TS 1 I&H A3

- e (A) B o B e e

TCZSH 5&F G IS ST T |

9F WA TR 90% ot | WfIc! 4,800 B
e R @2 I I9ET IR 1,800 B0
& T T @ome [ = IR I
= 2 SR

e w=fR{ 5% v S i
. 2[RS 12,500 53 :
Y o . 2 18. Draw the graph of the following
mﬁ'ﬁl W o8 51 Teead Rifdre o inequalities :
4 A Rorea wie wxw By oww 2w ' 8x+3y<24, x=21, y=>2
CTS ARG T, (SR aAfed T CFE T
o3 =ik Rm 2772 | T;i:mﬁm TSP e c'mr- TS
800 | 8x+3y <24, x21, y>2
12C—8000/9 " (Continued ) i )
;5 12C—8000/9 * ' Turn Qver )
i :




! ._Io _,._--- T WEmkrr V WLMWWIILY i

Or / F133y

inequalitics graph  of the following
W e |
it
YA : - R
2x-3y-6<0
x>0
y20

19. Find medis
9. Find median  and mode of the following

frequency distribution Domkiy .. 3+3=6

Hetgétéérm (‘gg;:hes] Fr;gézg;fy
3040 18
40-50 37
S0-60 - 45
60-70 _ .27
70-80 . . 15
80-90 - 8
12C—8000/9 ( Continued )

(11 )

20. A committee of 6 is to be formed out of
7 gentlemen and 4 ladies. In how many
ways can the committee be formed, if—

(a) at least 2 ladies are to be included; '

(b) atmost 2 ladies aré to be included? .
' ' ' 3+3=6

7@1@@@4«@%@@@6%_
SR Fam gt om IR@ oA T IR
FBITo—

(o) SIEFCHS 2 AR AAT ACF;.
(b) wﬁsdﬁz TP WS AT ?

Or/ a5

Find the coefficient of x* in

1 )12
2

x ——
(-5

L8112 Doaed! i
(x2——1—) Rfee x* -3 720 R 701

12C—8000/9 *( Turn Over )
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21. (a) Find Inean and standard deviation of
the-following frequency distribution :
' ' 3+3=6
O RIS il R TG qF
fverm ey 1 }
Marks Frequency |
(773) (Fr53rer)
60-62 34 f
62-64 27
64-66 20 |
66-68 13 i
68-70 6 '
(b) In which factory is there more
' variability in the distribution of
- ‘wages? : - i 3
PR FRIS Te8 s QR =Py
RT3 ? ’
Factory A Factory B
PRI A PRI B
Mean Income (Rs) 80 90
Ty o i
. Standard Deviation(Rs) 5 7
TP [Riserer ;
22. (@) Three coins are thrown
simultaneously at random. Write
down the sample space, 3

feRr a w AT ﬁﬁq 4
T 1 R e st fay | .

12C—8000/9 o Continued) 1}

!

(13 )

(b) A pair of unbiased dice is thro_wn at
random. If two numbers appearing be
different, find the probability that the

sum is 8. : 4
| B wAfoTe qgA o AT el

G e O G e ) @ﬁ?@ Sl

@@ Y WRI A, (AT iaﬁz

2@ T @ FRE 8 @R TR @

1 |

. s correlation
Find Karl Pearson’s co =
(c-:} coefficient from the data given below :

©aq O ﬂm”ﬁﬁfﬁﬁfﬁﬂqﬁﬁﬁﬁﬁ BT

Refy w41 :
x 1 2 ‘ 4 5 6‘ 8 11
y :18 12 10 8 7 5
8000/9 . ( Turn Over)
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( GROUP—B : 01d Course )
. (239 =t AR )
( cOMM
| ERCIAL ARITHMETIC AND ELEMENT
OF STATISTICS ) g

23. (a
\{.) If (3f) logy o, x == 1, find (R ) x

() Find x (x-3 ¥ fefg )
if (af)
ol |
x-3 5|=0

(¢) Is the set A={x:x+5=5 null?

A={x:x+5=5
e ? bR e e

1

(d) Banker’s gain = on TD

( Fill in the blank ) 1
(I TS = 24 G — |

12C—8000/9 :
' - ( Continued )

!

(e)

(9)

(h)

(1)

12C—8000/9

(15)

Write down the unit matrix I5.
43T e I, T
P(A) + PA)=—
[ Fill in the blank )
( < o W)

— s called the average of position.
( Fill in the blank ) -

If () log23-31=1-3676, find (Mg

) ;

Antilog (- 2-6324)

If {wo dice are thrown at random,
they can fall together in —— number
of ways. ( Fill in the blank )
o1 et AT TN feee i
Frite — q@ed AR A -

‘ (A TR E )

»( Turn Over )
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0‘) What is the j 7
| ; ncome obtained
Rs 4,500, 4%, stock at Rs 12%? s

120 531 %9 4,500 By 9
I IR fRefe <oy 1 bbb

24. Prove that (21 @)

‘log, x

—————

1og," x =1l+log, n

25. Write down ‘-twd differe

. nces betwee
matrix and a determing he

nt.

95T e
i O @1 Rt e T N
26, Find SD if
R R ey e 4
X=7,2x%=343 n=7 2

27. i |
'Are the fqllow;ng wo sets disjoint?
A={x:3x-8=0)

- B={x:xis a prime number <.5} .
1] I132fS 7B Sisey g o

12C—8000/9 .
( Continued)
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28. Arithmetic mean of samples of sizes 50
and 75 are 60 and x respectively. If the
arithmetic mean of 125 observations of
both the samples taken together be 54,
find x. 2

50 S 75 CABRME o1 2ifrfa IS Ty T
60 WIF x. AR TG aford FoEea 1250
(A5 IS M4 54 W, (SER T x-T F el
ey : _

29, If (af7)

A={1,234}

B={2, 4‘:6>7}

C={3 4,5, 7}
find (ﬁ‘fﬁ""ﬁf) ' ?
() A-BUC

(H An(B-C)

30. Solve (IR ) : ' ’
x+a b €

c x+b a
a b

=0
X+ cC

12C—8000/9 ( Turn Over )
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31. Evaluate (¥ fidfy ) ;

3
| 1/2
! - 3log 1728
1+ 1 log0.36 1
| 5 g + - log 8
32, 1;\'17\4 of th.e following -distribution ig
_ years. Find the value of x : 3
wﬁam@rﬁmwmmnmi’m :
X-3 9 [T 341 ’ i
Age (years) "
ears 8 20 ‘ !
il b 26 29 ;
No. of Persons : 3 2 X ) '3‘
TR ' |
33. Define with eéxamples : 3
CHIRITTZ 3 fopa ‘ l

(@) Row matrix (03 o) | 1|
(b) Column matrix (s (o)

(C} Scalar matrix (\ﬂ'ﬁl]‘ CW)

34, Mexjmtion three advantages of standard
deviation. ‘

T R fofbn o1 Soae w |
12C—8000/9 |

|

( Continued ) 4

( 19 )

35. Calculate -mean deviation about median

of the following numbers : 3
"+ O TR TGA A0 TS {51 9161 1 ¢

45, 37, 69, 57, 53

36. Prove that (4919 F11 @)

x+y+2z x Yy
z y+z+2x y =2x+y+2°
z x z+x+2y| | 4

37. (a) A certain sum of money amounts to
Rs 8,820 and Rs 9,261 at a certain
rate of compound interest
compounded annually in 2 years and
3 years respectively. Find the sum
and the rate of interest. 5

s Wt IR el I A [
(I 2 IF O 3 II© T oA 8,820
591 WIF 9,261 BI1 T | [T WIF TSI
7q s w41 1

What do you mean by ‘yield’ in case of
stock? 1

899 oS ‘yield’ feica & o2

(b)

12C—8000/9 ( Tum Over)
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jation of
) d standard dewatl.on
(¢) A person invests equat Sums in the 40. (a) Find mean affl uency distribution :
4% stock and 4159 stock and obtaing the following freq 4+4=8
- €qual incomes. If the 49 stock is at _ : B o[l W S
4% discount, find the market price of ' Ty RS e © ‘
4%2% stock, 5 g [va g 511
ST AR TR B 4% w4140, | Frequency
599 AR HARTR T o0 1 4% o “(4;‘;?)3 ——
.vﬁ4%%m%%@m,m’m4%%ﬁw ‘, ' 34
T 79 ety < | 60-62 ke
. 62-64
38. A banker discounts a bill 73 days before _ 20
naturity. If the discounted valye of the 64-66 \
bill be Rs 990, find the face value of the 66-63 13
bill, rate of interest being 5% p.a. 5 _ 6
A R B T 78 fn ey, iz 6870

990 B comr =, C’@mmﬁmﬂa%ﬁ@w
ﬁcﬁwn(wﬁﬁwmsw |

() Give two examples where range 1s

2
i 0 used. )

Ut

S equal annual instalments, the first f b, 0

Dei ’ : €r

)Ir):ayxfl el?;ngeli]}%e m\?acliieatd;hzaecrllld :i:ﬁ;:lt | () The AM and GM ;fe?NOF?r?tﬁheir HM

instalment to be paid by him.. 5 30 and 18 resl:;c :—iufrﬁberS- 6

mﬁwaﬁs%mﬁ‘i@wm,sooﬁw € -Apdislsotiie, TN a3 W @ 30

Wamnzxﬁ@ésﬁwmﬁmﬁrf@watm ‘ ' @Wﬂmwwmmwwwﬁn

ﬁﬁm&rﬁaﬁaﬁmwmﬁ%ﬁww b W L8 RN G,

CR® ARy 773, TR’ AT IS | w1 et % |

R AR fefy 21 | { Turn Over )
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41. (a) Three ~ coins are thrown
simultaneously at random. Write
down the sample space.

foRb Ao armear e <=1
R 1 R e sTfBeer forey |

(b) A pair of unbiased dice are thrown at
random. If two numbers appearing be
different, find the probability that the

sum is 8. - 43

T TS 9T @l e wEr
Rert =0 =91 o b afce c
(T 9 I <A, coT’ et ey
TE AN IR 8 (AR iR Fefy 74 |

42. The mean and SD of a group of 20 items
were calculated by a student as 20 cm
and 5 cm respectively. But while
calculating them, an item 13 was misread
as 30. Find the correct mean and
standard deviation. 4
20 1 coMb3 b1 TafRe TR Wit o Wi Rsa
FH 20 cm AF 5 cm, g S 1 TR 13
TARRR B e 30 i @ e | ws
TG 4 S A< [{oar et a7 |

12C—8000/9

( Continued ) j

( 23 )
@";3. Si;{lplify e ) 3
§ T.8645-3-0456+ 2 - 7345
44, If (3fw) -
I=((1) ?) A=(o '0) ‘
pri‘::ve that (g% 41 @) _;" ‘»d j
| (ol + bA? =a’T+3a%pA 5
S
: Or/ @&
If ()

RS B AR

#
“find matrix X such that
| TR X (R ey 991 A0S
3A-4B-5X =0

1| 8 : ***
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